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Bani-suif University first year first term exam.
Industrial Education Facully Basic Mathematics 1
Basic Science Depuartment January2010 Time allowed 3 hours

Answer all the following questions:

1. Find the different forms of the equation of the straight line passing through the points
A (3 ,4 ) and perpendicular to the straight line: X =2-4K Y=4+2K.

2. Find the angle between the two straight lines:
L, :2x+3y+4=0 and L,:X =4+k ,Y=K

3. Determine which of the following equation represents real, point, imaginary circle

—4x% —4y* +24x +32y - 36 =0. And find the vector equation of this circle, the
relation between this circle and the line: L :x+3y - 5=0

. 2 .
. sinx x4+ 2x-15
4 Find the following limit: I lim — I lim —— —
x—0 §inS5x £—3 x=3
o 3xP-10 o Jx+4-2
nr. hm —— VI lim —————
w0 25" +4x+9 0 X

5. 1) Discuss the continuity al X = ~72 for the function Fx):

jfz—j X # =2
fl)=1 x+2
\—-4 X =2

[I. Determine this function is even, odd, or neither: f (X) =5x* +3x" -4

1-sinx sindx
6. I) Find the derivative of: Yy = ————— and f(x) =™ + 11](C0t 3x)
COs X

I1. Find the relative extreme for f(x) using the second derivative test:
1

flx)= —3—x3 + 752—x2 +6x+210

i Lo AN /2 G il Slaia Y ]



Beni Suef University
Industrial Education College
Chemistry. First year (2009-2010)

Answer the following

1) Write the electronic configuration of the following

Se (Z=21) Si (Z=14) Cu (Z=29) AP (Z=13)

b

cr (=17

2) Write an account on the following
Electronegativity Coordinate covalent bond  Tonization potential
Parmagnetic substances  Le Chatelier's Principle

3)a) Give reasons for the following (three only)

1- Cu*' is coloured (Z=29)

3- Zinc is diamagnetic (€=30)

3- The boiling point of water is higher relative to its molecular weight
4~ Electronegativity of fluorine is higher than chlorine

b) Calculate the oxidation number of the atoms above the line

-

H3204 N_03

4) a) Derive the relation between K, and K¢

b) For the reaction
280; ————> 280; + O

at 1100 K K is 0.0271 mole/L. What is K, at the same temperature.

¢) Find the pH of 0.003 N HC1

5) a) Give the [UPAC name of the following compound
CH; ~
CH-CH=CH,
CH; -~
b) Compare between physical and chemical adsorption
¢) Electron in the subshell 3d° what is the possible values of n, m, 1 and m

d) What means that the octane number of gasoline is 90

Good luck
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Bent Sueif University General science
Faculty of industrial education first year students
Basic science department time: 3 hours

Final term exam 2009/2010

Answer the following questions:

Question one:

(a) Of the following the longest is
@W10'in - (2)10°m (3)10°ft  (4)0.01 mi
Explain your choice.

(b) Of the following which could be associated with a scalar (luantity:
(1) meter/min  (2) Newton (3) hours (4) meter/s

(¢) Using the units to prove that:

271’
V="— g(p-p)
99

. . 2
Where 7 is expressed in N.s/m

) .

P Pu yre expressed in kg/m3

V' is the velocity and g is the acecleration of gravity

(d) A car is headed due north at a forward speed of 60 km/hr and then moves to the
southwest with a speed of 70 km/hr and finally to the east with a specd 20 m/s. What

is the velocity of the car in ft/s relative the carth's surface?

Question two:

(a) A stone is thrown upward with an initial velocity of S0 ft/s.
(1) What will its maximuin height be?
(2) When will it strike the ground?

(3) Where will it be in l; s and 2s?

(b) A flywheel rotating at 20rev/s is brought to rest by a constant torque in 40 s. in

coming to stop, how much revolutions it makes?

(¢) A 50 N bag of centent is placed on 4 m long plank 1.8 m from one end. The plank
itself weight 10 N. If two men pick.up the plank onc at each end, how much weight

must each support?
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Beni Sueif University General science
Faculty of industrial education first year students
@Basic science department time: 3 hours

Final term exam 2009/2010

Answer the following questions:

Question one:

(a) Of the following the longest is
(1)10'in - (2)10°m (3)10° ft  (4) 0.01 mi
Explain your choice.

(b) Of the following which could be associated with a scalar (!u:mti(y:
(1) meter/min  (2) Newton (3) hours (4) meter/s

(¢) Using the units to prove that:
2

21
V=cr—8(p-p)
9n
Where 1 isexpressed in N.s/m’
PsPu are expressed in kg/m®

V is the velocity and g is the acceleration of gravity

(d) A car is headed due north at a forward speed of 60 km/hr and then moves to the
southwest with a speed of 70 km/hr and finally to the east with a speed 200 m/s. What
is the velocity of the car in ft/s relative the earth’s surface?

Question two:

(2) A stone is thrown upward with an initial velocity of 50 ft/s.
(1) What will its maximum height be?
(2) When will it strike the ground?

(3) Where will it be in I% s and 2s?
(b) A flywheel rotating at 20rev/s is brought to rest by a constant torque in 40 s. in

coming to stop, how much revolutions it makes?

(¢) A 50 N bag of cement is placed on 4 m long plank 1.8 m from one end. The plank

itself weight 10 N. If two men pick.up the plank one at each end, how much weight
must each sapport?
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Faculty of industrial education Bani-Sweif university
First year July, 2010 English Exam

i . Write on two of the following topics &

a.Petroleam b. Internet e Technology d. Ocesnic conservation
¢ . Endaungered species f. Desert

11 . Read the following and answer the guestions :

Petroloum is naturally occurring oily liquid composed of various organic
chemicals . Found below the surface of the earth , it is used as a fuel and as a raw
material in the chemical industry . Modern industrial civilization depends on
petroleum and developing countries base their goals on petroleum availability .
Composed principally of hydrecarbons , petreleum contains gaseous , liquid ,
and solid elements . Its consistency varies from liquid as thin as gasoline to liguid
0 thick that it will barely pour. The three broad petroleum classes are paraffin,
asphaltic, and mixed-base types. Petroleumn forms under the earth's surface.
First organic remains and sediments settle on the ocean floor, and as the deposit
grows thicker and sinks, its pressure and temperature rise. Gradually, sediments
harden into rock, and organic matter decomposes, becoming petroleum. Less
dense than the seawater also present in the rock, petroleum rises in the earth's
crust. Impermeable rock layers trap rising petrolenm, forming FeSErvoirs.
Petroleum that is not trapped flows out at the earth's surface.

{Juestions :

1. What is petroleum ? What is it used for ?

5 . What are the characteristics of petroleum ?
3 .Describe its consistency .

4 . How is petroleum formed ?

1 .General questions

i . How doest the internet work 7
3 . What are the internet main services 7
4 What are the opportunities offered by technology ?

IV . Select the adjectives , adiectival phrase . adverbs and adverbial phrases and
point gut the word to which each is added:

e told me the story of his visit to Siwa.

We ran quickly to the station to catch the train.
Walking along the street, 1 met Aly on his way home.
1 found this book lying in the drawer of this table.
The books on the table belong to the finglish teacher.
Did you leave your books on the table?

SR W

Good luek



